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All questions are divided into two sections, A and B.

Attempt any five questions out of seven questions

from each of the sections.

Section A has short answer questions and each

carries 5 marks whereas Section B contains long

answer questions and each carries 12 marks.
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Clearly indicate the section when answering any

question.

Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

Et'llefrqfrfu

W rrFr-II;r t ffi ff sqr frs ?N ffqk rqrc y( dqqr

s.{fiqr-"6,ftfrq I

8rc sqffi, rq-tt e-*n, Eil ilr$ ${ {ftIrm frM +
w+i t wrm-+a di' friRcr M,+- + ftu nw ao<t^ w
qqt dfrqr t srat ta-eqrt dk iltrq, Edr.{.ars qr l-{+
wft*( R-{it d *} nqrR-d 6'{* i?

Assume the permanent income is calculated as the

average of income over the past 5 years:

tn : 
](Y+Y r+y ,+y ,+y o)

C = O,9YP

Answer the following :

(i) If you have earned $25,000 per year for the

past l0 years, what is your permanent income?

(ii) Suppose that next year (period t+1) you earn

$35.000, what is your new permanent income?

(iii) What is your consumption this year and next

year?

(iv) What are your short-run MPC and long-run
MPC?
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"flilne d 5-irdfr *r tM Ffrqq +dr t, nerq

Atrm + qfir" rrrelc + ffi + derl + Eq 6ir{ 6I

ffiqur dfuqr

Differentiate between the Keynesian and Monetarist

views on the outfut -in flat! on-une mp I oyme nt

relationship. What policy recommendations stem from

each school of thought?

i-flq-{-1rdR-aM Rcir q< frlRcq ft dEq-{A

ffii * ftq Br+r qaEqr e+6 ft-srunr t Hr fiRrrd

ffis] fio-mt *?

How does the slope of the aggregate supply curve

vary between the fixed-money-wage and variable-

money-wage models in the Keynesian framework?

Explain with the help of suitable diagrams.

mfutr< Eti n frttc$S {ei{ * ffa <ru-nn-ffi$ *{
qfr{€ffc-gar-il$ a-lr' $I E(r"r frt vqn fi-q Etdr t?

ssgm i[AG] d q6rrff t cqHEsl

Discuss the key differences between Classical and

Keynesian theories in terms of labour supply, wage

behaviour, aggregate supply, and policy implications'

How do these differences influence their respective

views on unemployment and economic fluctuations?

sEcrroN A (Ti.R c)

(Attempt any 5 questions out of 1)

p++e}fElrrnsff,Br/

Define the natural rate of unemployment and explain

its significance.

AM 6 vrffto, qr d cfr{kd d&sr w+ cr€ ff
qrqr dfrqr

What is the difference between adaptive and rational

expectations?

nT{-ff qk i-#Irfl qtmr-S * {q wr u-rt *?

How do liquidity constraints and myopia influence

consumption behaviour?

Explain the Tobin's q theory of investment. How does

the value of q influence a firm's decision to invest in

new capital?
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ak{ + fra$ * q Mo d qrqr dftvr q or 1affi E{ + TS iff n Ban o.r+ + frdq s} *+ cqrRf,
qrm *?

Using IS-LM and Aggregate Demand- Aggregate
Supply schedules. explain the effects of an increase
in the money supply when the price level is flexible in
the Keynesian model.

qrfusc{ uqffi erg@+ 6r sc+rr 6l+ Ec*cas{ *( nry
qFr- frifu++ ttun I Tq m * a-A+ ++ cr !n flrIF
t gtr + eqr+ sft qrqr 6frgr

Differentiate between the short-run and long-run
Phillips Curve as per the Keynesian theory. What do
they imply regarding the trade-off between the
inflation rate and the unemployment rate?

dffr€ffi A ir$R Brflrsfr Bfu trqe ftRq qff.

+ Aq erdr E-orwr greffft cr rh tM et * {q
frfrqc + eR { t e{r t'+-d ti *?

Discuss the Life-Cycle-Permanent Income Hypothesis
(LC-PIH) of consumption.

scltrr * fi-++-=rm-er& snc qfr6-q{r (qmft- fttr{\rq)

sDcrroN B (ltrs S)
(Attempt any 5 questions otut of 7)

(7 + * s*f, s rn 6-d ft?,"q/ .

Explain the determinants of business fixed investment.

How do interest rates and expectations influence
investment decisions?

ftn eeflAq' frmrT * ftrH fr qnqr frfrqr qrq A
Bfu srEer{ Effirr ffff o1 *+ nqrG-d 6iA *?

Explain the flexible accelerator model for investment.
Explain how a temporary investment tax credit is an

effective countercyctical policy measure.

"There is a trade-off between inflation and
unemployment in the short run but not in the long
run." Analyze this statement with reference to
Friedman's theory.
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